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(100 - 90) - 2= (7x10) 2 = 320 +17 + 15 If eighty budgies faid four eggs each, how many eggs are there
aftogether?
’ 2| (100-50) - 8= K (3x5)+3 ) 2|100+13+15 = : j 2. There are nine groups of children with fifty children per group.
i 3 |(100 - 20) - 14= 23] (1x10):2 3] 10+10+16= il How many children are there?
i G 5 3. Combine six hundred and sixty-threg and three hundred, with
i 4| (100-70)-3= | 4 (5x5)+5 14| 50+154+10 = ‘ O H O thirty-seven,
o 5 (100 - 40) - 39 = 51 (9x10)=9 551 90410413 = : i " 4. Ifa dozen eggs cost $5.00 then six dozen will cost §...7
i B [ . 2
| 6 (100 - 30) - 16= 7 6 (3x5)=5 = 16| 30+154+17 = . What two coins add up to the value of iwenty cents?
P ! . o 7T 80410415 - . Add four hundred and forty fo one hundred and ninety - six.
(100-80) - 7= (8x10)=8 = T “| 7. Twenty boys, one hundred and fourteen girls and their teacher
8 (100 - 60) - 38 = Y 8 (1x5+1= 18 10+19+15= : went to the concert. Altogether there were ... people?
o] q20-10)-6= 9| @2x10) =10 = 19] 20+10+14 = 8. One hundred and seventy, and thirty-three make?
g 10 Tol 0+ 15+ 18 9. Divide eighty-gight into four equal groups.
|10] (100-90)-9= : (6x5)+2= FrerieT 10. Join a thirty metre rope to & forty-iwo meire rope to make one
111100 - 20) - 19 = 1] ©@x10)=3 = (11 90+10 213 = . long rope. How long is the final rope?
' h B 11. How many beads remained when a necklace with one hundred and
12| (100 - 80) - 8= 121 (4xg)=2= 12} 40+15+ 12 = twenty beads hroke and sixty heads were lost?
13}(100-50) - 27 = 113 (ax10y=2= |13, 10+10+16 = 12. One hundred lots of one times seven eguals?
14{(100 - 30) - 15 = 194 (7x5)+5 = 141 70+ 15+ 18 = 13. Separate one hundred and ninety from two hundred.
18] (100 - 60) - 5= 15| B5x10)+5 - 115] 504+ 10 + 10 = | 14. Which is greater six hundred and sixty-two or sixty-two?
: 15. How many more must be-added to one hundred and ninety to
16((100-30) - 18= 116 B3x5) 1= 16| 30 +15+10 = make three hundred?
17| (100-70)-6= 17| (Bx10)+5 = 17| 80 +10 + 14 = 16. Add these numbers together 300, 70, 20 and 16.
: 17. Five cameras cost a toial of $500.00. What equal amount was
18{(100 - 60} - 39 = 18] (4x5)+4-= 18| 40+15+13 = spent on each?
191(100 - 40} - 24 = 191 (9x10) +10 = 119 80 +10+17 = ‘ 18. Compare 30 x 4 and 60 x 3. What is the difference?
\20 (100 - 50) - 50 = : 20 (2x5)+5 = EO 20+15 + 16 = : ! ‘[ 19. How many less than 230 is fifty?
- : - ‘ —— - - : i 20, Therg are one hundred and twenty-four biscuits in a packet. Share
b 9
Score Score Seore . Y half a packet of biscuits between t‘wo boys. How many for each boy? p.
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cm in 2.5 m

2 cmin55m =

3 cmin75m =

4 cminism =

5 cmin26m =

o 6 cminb5.2m=

: 7 cmin81m=

8 cmin3.7m =

9 cming4m =

410 cmin35m =

11 cmin6.3m =

12 cmind44m =

13 cmin3.2m =

i 14 cmin9.8m =

H 1D cmin2.9m =

|16 cmin84m =

117 cmin1.7m=

18 cmin5.1m =

cmin26m =

cmin6.8m =
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QUICK MATHS TESTS

The sum of 20 and 70 and 100 is?

Take away two hundred from eight hundred.

What does the sum of of ninety and seventy equal?

Add fifteen marshmallows to forty marshmallows.

What number do you add with itself to make forty?

Put together fourteen hats and thirty hats.

If you separate twenty -thrge from fifty you have how many left?

ol N || N

Seventy children join with how many children to make a
group of one hundred?

9. What do you double to get twenty-four?

-1 10. Write the answer for twenty take sixteen as a numeral.

‘ii 11. Write the numerals far two hundred and nineteen.

: 12. Sixty less than one hundred is?

2‘;; 13. How many mote are needed o make fifty if you have twenty-five?

A 14. How many groups of ten are thare in the number 1207

15. The difference between 100 and 40 is...7

i 16. How many halves in 12 whole oranges?

17. Which is greater 151 or 1707

18. Eleven take away four take away three equals...?

19. What number is eighty mare than iwo hundred?

| 20. What is seventeen greater than thirty?
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